
https://www.geekcert.com/010-151.html
2024 Latest geekcert 010-151 PDF and VCE dumps Download

 

 

 

010-151Q&As

Supporting Cisco Data Center System Devices

Pass Cisco 010-151 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/010-151.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Cisco
Official Exam Center

 

 

Latest 010-151 Dumps | 010-151 Practice Test | 010-151 Exam Questions                                1 / 4

https://www.geekcert.com/010-151.html
https://www.geekcert.com/010-151.html
https://www.geekcert.com/010-151.html


https://www.geekcert.com/010-151.html
2024 Latest geekcert 010-151 PDF and VCE dumps Download

QUESTION 1

Refer to the exhibit. 

Which option should you select to get the output of the show tech-support detail command for the Cisco UCS B-Series
blade? 

A. A - ucsm 

B. B - chassis 

C. C - fabric-extender 

D. D - rack-server 

Correct Answer: B 

 

QUESTION 2

Which two Cisco Nexus switches provide the foundation of the Cisco Application Centric Infrastructure? (Choose two.) 

A. Cisco Nexus 7718 switch 
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B. Cisco Nexus 9508 switch 

C. Cisco Nexus 7710 switch 

D. Cisco Nexus 93128TX switch 

E. Cisco Nexus 6004 switch 

Correct Answer: BD 

 

 

QUESTION 3

Refer to the exhibit. 

Which call-out accurately shows the current running version of the Cisco UCS Manager management software? 

A. A - UCS Manager running version 1.4(1m) 

B. B - IO Module 1 running version 1.4(1m) 

C. C - Interface Card 1 running version 1.4(1m) 

D. D - Kernel running version 4.2(1)N(1.4m) 

Correct Answer: A 

 

QUESTION 4
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What is the wire transmission speed for 100GBASE-ER4 Ethernet? 

A. 100 Mb/s 

B. 1 Gb/s 

C. 10 Gb/s 

D. 100 Gb/s 

Correct Answer: D 

 

 

QUESTION 5

Which two statements about PCIe are true? (Choose two.) 

A. The PCIe link is built around dedicated unidirectional couples of serial, point-to-point connections known as lanes. 

B. You can install a PCI Express x8 adapter into an x4 slot. 

C. The PCIe standard is a bus-based system in which all the devices share the same bidirectional, 32-bit or 64-bit,
parallel signal path. 

D. The PCIe 1.0 standard doubles the transfer rate compared to PCIe 2.0. 

E. A link that is composed of four lanes is called an x4 link. 

Correct Answer: AE 
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